
SECOND YEAR HIGHER HECONDARY  
PART III 

ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS

 (maximum scores 80 )

Answer any4 questions from 1 to 5 Each carries 1 scores  (4x1=4)

1. In the absence of partnership deed the interest is allowed on partners capital

a) 5% p.a. b)6% p.a. c)12% p.a d)No interest is allowed

2. Partners current account is prepared under------------------------- method

3.  On admission of a partner Goodwill brought in by a new partner is distributed to old partners 

in---------------- ratio

a) sacrificing ratio b)new profit sharing ratio c)old ratio d)gaining ratio 

4. A, B and C are partners in a firm sharing Profit and loss in the ratio of 5:3:2 . if A retires the new 

ratio will be ---------------

a) 5:3 b) 3:2 c) 1:1 d) 5:2

5. Realisation account is ............................

a)nominal account  b)personal account c)real account d)none of these 

Answer both questions six and seven each carries 2 scores (2X2=4)

6. In the absence of a partnership deed mention the rules regarding the following 

a)interest on loan 

b)salary of partner 

7. Anish, Ramesh and Sumesh are partners sharing profits in the ratio of 3:2:1 Ramesh retires from 

the firm and Anish and Sumesh decided to share the future profits in 3:1 calculate gaining ratio 

Answer both questions from 8 to 10. Each carries 3 scores (2X3=6)

8. Bindu a partner withdrew rupees 3000 every month calculate interest on drawings at 10% in the 

following cases 

a)at the end of every month 

b)at the beginning of every month 

c)at the middle of every month

9.  Explain any three factors that affects the value of goodwill

10.  X and Y are partners sharing profits and losses in the ratio 3:2 They decided to admit Z into the 

partnership with 1/6th of shares. On the date of Z admission that balance sheet of the firm Showed 

the following 

a)profit and loss account (Dr)-10000

b)General Reserve- 15000

Pass Necessary Journal Entries

Answer both questions 11 and 12. Each carries 4 score   (2x4=8)

11. Explain different modes of dissolution of partnership firm

12. The average profit for the last 5 years were rupees 50,000. The capital employed was 2,00,000 

and firm expected Normal Rate of Return at 10% per annum. Calculate the Goodwill on the basis of

3 years purchase of super profit



Answer any4 questions from 1 to 5 Each carries 1 scores  (4x1=4)

1. പങ്കാ�ളി�ത്ത ഉടമ്പട�യു�ടെട അഭാ�വത്ത�  പ� ട്ണറു�ടെട മ�ലധനത്ത�ന് ൽ ർ
അന�വദി�ക്ാകാപട്െപട്ട പല�ശ ന�രക്ാക്ാ

a) 5% p.a. b)6% p.a. c)12% p.a d) പല�ശ അന�വദിന�യുമല്ല

2. പ� ട്ണറു�ടെട കാറുണ്ട് അക്ാകാ�ണ്ട് തയു്യു�റു�ക്ാകാപ്ടെപട�ന്നത് ർ -------------------------------

ര�ത� പ്രകാ�രമ�ണ്

3. അഡമ്�ഷ  സമയുത്ത് പ�ത�യു പ� ട്ണ  ടെകാ�ണ്ട�വര�ന്ന ഗു�ഡവ്�  ന�ലവ�ടെല ൻ ർ ർ ൽ
പ� ട്ണ മ� ക്ാക്ാ വ�ത�ച്ച� ന കാ�ന്നത് ഏത് അന�പ�തത്ത�ല�ണ്ർ ർ ർ ൽ

a) ത്യു�ഗു അന�പ�ത$ b)പ�ത�യു ല�ഭാ$ പങ്കാ�ട  അന�പ�ത$ ൽ c)പഴയു അന�പ�ത$ 

d)നേനട്ട അന�പ�ത$

4. A,B,C എന്ന�വ  പങ്കാ�ളി�കാളി�യു സ്ഥാ�പനത്ത�  ല�ഭാവ�$ നഷ്ടവ�$ പങ്കാ�ട�ന്ന ർ ൽ
അന�പ�ത$ 5:3:2 ആണ് A റു�ട്ടയു  ടെചയുയ്ു�കായു�ടെണങ്കാ�  പ�ത�യു ർ ൽ
അന�പ�ത$.............

a) 5:3 b) 3:2 c) 1:1 d) 5:2

5. റു�യുലൈലനേസഷ  അക്ാകാ�ണ്ട് ഒര� ൻ ..........................................ആണ്

     a) ന�മമ�ത്ര അക്ാകാ�ണ്ട് b) വ്യുക്ാത�ഗുത അക്ാകാ�ണ്ട് c) യുഥാ� ത്ഥാ അക്ാകാ�ണ്ട് ർ d) 

ഇടെത�ന്ന�മല്ല

Answer both questions six and seven each carries 2 scores (2X2=4)

6. പ� ട്ണ  ഉടമ്പട�യു�ടെട അഭാ�വത്ത�  ത�ടെഴപ്പറുയു�ന്നവയു�മ�യു� ബന്ധപട്െപട്ടർ ർ ൽ
ന�യുമങ്ങ  എഴ�ത�കാൾ

a) വ�യു്പയു�ടെട പല�ശ b) പങ്കാ�ളി�യു�ടെട ശമ്പളി$

7.      അന�ഷ് സ�നേമഷ് രനേമഷ് എന്ന�വ  പങ്കാ�ളി�കാളി�യു സ്ഥാ�പനത്ത�  അവര�ടെട ർ ൽ
ല�ഭാനഷ്ടങങ്ൾ 3:2:1 എന്ന് അന�പ�തത്ത�  വ�ത�ക്ാകാ�ന്ന�ൽ . രനേമഷ് റു�ട്ടയു  ർ
ആയുപ്നേപ�  അന�ഷ�$ സ�നേമഷ�$ പ�ത�യു ല�ഭാനഷ്ട അന�പ�ത$ ൾ 3:1 എന്ന് 

ത�ര�മ�ന�ച്ച� .ഇവര�ടെട ടെഗുയു�ന�ഗു്  അന�പ�ത$കാണക്ാകാ�ക്ാകാ�കാ
Answer both questions from 8 to 10. Each carries 3 scores (2X3=6)

8. ബ�ന്ദി� എന്ന പ� ട്ണ  എല്ല� മ�സവ�$ ർ ർ 3000 ര�പ ടെവച്ച് ബ�സ�നസ്സ�  ൽ
ന�ന്ന�$ പ� വല�ക്ാകാ�ന്ന� ൻ 10% ന�രക്ാകാ�  ത�ടെഴ പറുയു�ന്ന സ�ഹചര്യുങ്ങളി�ടെല ൽ
ഇ ട്രസ്റു്റു് ഓ  ഡ്നേര�യു�ങ് കാണക്ാകാ�ക്ാകാ�കാൻ ൺ
a)എല്ല� മ�സത്ത�ന്ടെറുയു�$ അവസ�ന$    

b)എല്ല� മ�സത്ത�ന്ടെറുയു�$ ത�ടക്ാകാത്ത�ൽ
c) എല്ല� മ�സത്ത�ന്ടെറുയു�$ മധ്യുത്ത�ൽ
9. ഗു�ഡവ്�  മ�ല്യുത്ടെത ബ�ധ�ക്ാകാ�ന്ന ഘടകാങ്ങ  വ�ശദി�കാര�ക്ാകാ�കാൽ ൾ
10.  X,Y എന്ന� പ� ട്ണ മ�  ല�ഭാവ�$ നഷ്ടവ�$ പങ്കാ�വയു്ക്ാകാ�ന്ന അന�പ�ത$ ർ ർ ർ 3:2 

ആണ് . അഡമ്�റുറ്ു് ടെചയു്യു�ന്ന�. ആ സമയുത്ത് ബ�സ�നസ�ന്ടെറു ബ�ല സഷ�റുറ്ു് ത�ടെഴൻ
പറുയു�ന്നവയു�ണ് ആവശ്യുമ�യു നേ1ണ  എ ട്ര�കാ  തയു്യു�റു�ക്ാകാ�കാൽ ൻ ൾ

Answer both questions 11 and 12. Each carries 4 score   (2x4=8)

11.  ഒര� പ� ട്ണ ഷ�പ്പ് ബ�സ�നസ�ന്ടെറു ഡ�സല്യു�ഷ  നടക്ാകാ�ന്നത�ന�ളി്ളി ർ ർ ൻ
വ്യുത്യുസ്ത ര�ത�കാ  എഴ�ത�കാൾ



12.ഒര� ബ�സ�നസ�ന്ടെറു കാഴ�ഞ്ഞ അഞ്ച�വ ഷത്ടെത ആവനേറു1് പ്നേര�ഫി�റുറ്ു് ർ 50,000 

ര�പ അത�ന്ടെറു ക്ായു�പ�റുറ്ു  എ$പ്നേല�യു�ഡ് ൽ 2,00,000 ര�പ ആണ്. സഥ്ാ�പനത്ത�ന്ടെറു 

നേന� മ  നേറുറു്റു് ഓഫ്ി റു�ട്നേട  ർ ൽ ൺ 10%ആകാ�ന്ന�. സ�പപ്  പ്നേര�ഫി�റുറ്ു് ടെമത്നേതഡ ്ർ
പ്രകാ�ര$ സഥ്ാ�പനത്ത� ടെറു  ഗു�ഡവ്�  കാണക്ാകാ�ക്ാകാ�കാൻ ൽ

Answer both questions 13 and 14. Each carries 5 score   (2x5=10)

13. Distinguish Fixed Capital  and Fluctuating Capital Method

14. Raghu Manu and Vinu are partners in a firm Vinu retires from the firm on 1st January 2018. On 

that date 1,50,000 become due to him and the amount was transferred to his loan account. The 

remaining partners agreed to pay the amount in three equal instalments together with interested 5% 

per annum. Prepare Vinu’s loan account

Answer any one questions from 15 to 16 Each carries 8 score       (8x1=8)

15.Ajay and Vijay are in partnership sharing profits and losses in the ratio of 3:2 Their balance sheet

as on 1st April 2022 show the following position

Liabilites Amount Assets Amount

Sundry Creditors

Bills Payable

General Reserve

Capitals:

Ajay’s capital:     25000

Vijay;s capital:    30000

14000

6000

20000

55000

Cash at Bank

Sundry Debtors

Stocks

Furniture

Buildings

1400

21600

15000

7000

50000

95000 95000

On the above date they admit Vinod in to partnership on the following terms. 

1. Vinod should bring Rs. 20,000 as capital and Rs. 3000 For goodwill for a 1/6 th share

2. The assets should be revalued as under

a. Buildings – 44,000/-

b. Furniture – 10% less

c. Stock – 17,800/-

d. A provision of Rs. 800 be created fo doubtful debts.

Prepare necessary ledger accounts and Balance sheet of the new firm.

16. J and R were in partnership sharing profit and losses  equally. Their Balance sheet as on 

31/3/2022 was as follows,

Liabilities Amount Assets Amount

Capital 

     J- 12000

    R – 8000

Creditors

20,000

10,000

Bank

Debtors

Stock

Furniture

5,000

10,000

8,000

7,000



30,000 30,000

The firm dissolved on the date of Balance sheet and Assets are realised as follows,

Furniture  -  9,000

Debtors  -     8,500

Stock  -     7,000

Creditors were paid (full settlement) at 8,000

Realisation expenses amounted to Rs. 500

Prepare necessary ledger accounts to close the books of the firm.

Answer both questions 13 and 14. Each carries 5 score   (2x5=10)

13.  ഫി�ക്ാസഡ് ക്ായു�പ്പ�റു്റു  ഫി്ലക്ാറു്റു�$ഗു് ക്ായു�പ�റു്റു  എന്ന� ര�ത�കാ  ൽ ൽ ൾ
തമ്മ�ല�ളി്ളി വ്യുത്യു�സങ്ങ  എഴ�ത�കാൾ
14. രഘ�, വ�ന� എന്ന�വ  പങ്കാ�ളി�കാളി�യു ബ�സ�നസ്സ�  ന�ന്ന് ർ ൽ 1/1/2018 ന് 

റു�ടട്യു  ടെചയു്യു�ന്ന�ർ . ആ ദി�വസ$ വ�ന�വ�ന് ടെകാ�ട�ക്ാകാ�ന�ളി്ളി 1,50,000 ര�പ നേല�  ൺ
അക്ാകാ�ണ്ട�നേലക്ാക്ാ മ�റു്റു�ന്ന�. ന�ലവ�ടെല പ� ട്ണ മ�  ഈ ത�കാ ർ ർ ർ 5% പല�ശ 

സഹ�ത$ മ�ന്ന� തവണ ആയു� ന കാ�ടെമന്ന് വ�ഗു്ദി�ന$ ന കാ�ന്ന�ൽ ൽ . വ�ന�വ� ടെറു ൻ
നേല�  അക്ാകാ�ണ്ട് തയു്യു�റു�ക്ാകാ�കാൺ

Answer any one questions from 15 to 16 Each carries 8 score       (8x1=8)

15. അ1യു്,വ�1യു് എന്ന�വ  ല�ഭാനഷട്ങ്ങ  ർ ൾ 3:1 അന�പ�തത്ത�  പങ്കാ�ട�ന്ന ൽ
അവര�ടെട 1/4/ 2022 ടെല ബ�ല സ് ഷ�റു്റു് ത�ടെഴ ടെകാ�ട�ക്ാകാ�ന്ന�ൻ .

Liabilites Amount Assets Amount

സ ട്ര� ക്ാടെരഡ�റുന്േറുഴ്സ് ൺ
ബ� സ് ടെപയുബ�  ൽ ൾ
1നറു  റു�സ വ് ൽ ർ
ക്ായു�പ്പ�റുറ്ു സ്ൽ :അ1യു് :   
25000

                       വ�1യു് :    30000

14000

6000

20000

55000

ക്ായു�ഷ് ബ�ങ്ക്ാ 

 ടെഡ സ്ബ്റ്്റർ
സ്റുന്േറു�ക്ാക്ാ

ഫി ണ�ച്ച  ർ ർ
ബ� ഡ�$ഗു്ൽ

  1400

21600

15000

7000

50000

95000 95000

 ആ ദി�വസ$ അവ  വ�നേന�ദി�ടെന ത�ടെഴ പറുയു�ന്ന ന�ബന്ധനപ്രകാ�ര$ അഡമ്�റു്റു് ർ
ടെചയു്യു�ന്ന� 

1)വ�നേന�ദ്ി 20000 ര�പ മ�ലധന$ മ�യു�$ 3000 ര�പയു�$ 1/6 ടെഷയു  അഡമ്�റു്റു് ടെചയു്യു�ന്ന� ർ
2)ആസ്ത�കാ  ത�ടെഴ പറുയു�$ പ്രകാ�ര$ റു�വ�ല� ടെചയു്യു�ന്ന�ൾ . 

a.ബ� ഡ�$ഗു് – ൽ 44,000/-

b. ഫി ണ�ച്ച   – ർ ർ 10% less

c. സ്റുന്േറു�ക്ാക്ാ – 17,800/-

d. പട്െര�വ�ഷ  നേഫി�  നേഡ�ടട്് ഫി�  ടെഡറുറ്ു്സ് ൻ ർ ൾ -Rs. 800 

ആവശ്യുമ�യു ടെലഡ്1  അക്ാകാ�ണ്ട�കാളി�$ ബ�ല സ് ഷ�റു്റു് തയു്യു�റു�ക്ാകാ�കാ ർ ൻ
16. ടെ1, ആ  എന്ന�വ  ല�ഭാനഷ്ടങ്ങ  ത�ല്യുമ�യു� വ�ത�ച്ടെചട�ക്ാകാ�ന്ന ർ ർ ൾ
പ� ട്ണ മ�ര�ണ് അവര�ടെട ർ ർ 31/3/2022 ടെല ബ�ല സ് ഷ�റുറ്ു് ത�ടെഴ പറുയു�ന്ന�ൻ

Liabilities Amount Assets Amount

ക്ായു�പ്പ�റുറ്ുൽ
     J- 12000

    R – 8000 20,000

10,000

ബ�ങ്ക്ാ

 ടെഡ സ്ബ്റ്്റർ
സ്റുന്േറു�ക്ാക്ാ

5,000

10,000

8,000

7,000



ക്ാടെരഡ�റു്നേറുഴ്സ് ഫി ണ�ച്ച  ർ ർ

30,000 30,000

ബ�സ�നസ് ബ�ല സ് ഷ�റു്റു് ത�യുത�ക്ാക്ാ ഡ�നേസ� ടെവഡ ്ആകാ�ന്ന�ൻ ൾ .  ആസ്ത്ത�കാ  ൾ
ത�ടെഴ പറുയു�$ പ്രകാ�ര$ റു�യുലൈലസ് ടെചയുയ്ു�ന്ന� 

ടെഡ സ്  ബ്റ്്റർ -     8,500, സറ്ു്നേറു�ക്ാക്ാ  -     7,000, ക്ാടെരഡ�റുന്േറുഴ്സ് ഫി�  ൾ
ടെസറുറ്ു� ടെമ റു്  ൽ ൻ 8,000

റു�യുലൈലനേസഷ  ടെചലവ�കാ  ൻ ൾ - Rs. 500

സ്ഥാ�പനത്ത� ടെറു ബ�ക്ാകാ�കാ  ക്ാനേല�സ് ടെചയുയ്ു�ന്നത�ന് ആവശ്യുമ�യു ടെലഡ1്  ൻ ൾ ർ
അക്ാകാ�ണ്ട�കാ  തയു്യു�റു�ക്ാകാ�കാ ൾ

PART -B

ANALYSIS OF FINANCIAL STATEMENTS

Answer any 4 questions from 17 to 21.Each carries one score.  (4x1=4)

17. Unpaid amount on shares is called--------------

18. Shares issued at a price above the face value is called-----------

a) Shares issued at a discount

b) Shares issued at a Premium

c) Shares issued at Par

d) None of these

19. Which financial statement tool is known as 100% Statements

a) Comparative statements

b) Common size Statement

c) Ratio Analysis

d) Cash flow statements

20. Debenture holders get --------

a) Interest

b) Commission

c) Dividend

d) Salary

21. Liquidity Ratio =  Liquid Assets

?

22. Suvarna Company Limited issued 20,000 equity shares of rupees 10 each which application 

money of rupees 2 each company received for 24,000 shares, excess application money was 

refunded give journal entry for refund of excess application money

23. what is zero coupon Bond

24. what are the difference between shares and debentures

25. Mention the items comes under shareholders fund in comparative balance sheet

26. Moon Limited forfeited 500 equity shares of rupees 10 each held by Arun for non payment of 

first call of Rs. 2 per share and second and final call of rupees 3 per share. Record the journal entry 

forfeiture of shares.



27. Explain the types of Share Capital

28. From the following statement of profit and loss account of XYZ company limited prepare

comparative statement of profit and loss for the year 31st December 2021 and 2022

Particulars March 31,2021 March31, 2022

Revenue from operation 20,00,000 22,00,000

Administration Expenses 10,00,000 11,00,000

Other Expenses 1,00,000 2,00,000

Tax Rate 20%

PART -B

ANALYSIS OF FINANCIAL STATEMENTS

Answer any 4 questions from 17 to 21.Each carries one score.  (4x1=4)

17. അടച്ച� ത� ന്ന�ട്ട�ല്ല�ത്ത ടെഷയു  ഭാ�ഗുത്ത�ന്ടെറു നേപര്ർ ർ
18. ടെഷയു  മ�ഖവ�ലടെയുക്ാകാ�ളി�$ ഉയു ന്ന വ�ലയു�  ഇഷ്യു� ടെചയു്യു�ന്നത�ടെന ർ ർ ൽ
--------------------  എന്ന� പറുയു�ന്ന�

a)ടെഷയു സ് ഇഷ്യു�ഡ ്അറു്റു് ഡ�സ്കാ�ണ്ട് ർ
b)ടെഷയു സ് ഇഷ്യു�ഡ ്അറുറ്ു് പ്ര�മ�യു$ ർ
c)ടെഷനേയുഴ്സ് ഇഷയ്ു�ഡ ്അറു്റു് പ�ർ
d) ഇവടെയു�ന്ന�മല്ല 

19. ഏത് ഫി�ന� ഷ്യു  സ്റുന്േറുറു്റു്ടെമ റു് ട�ളി�ടെനയു�ണ് ൻ ൽ ൻ 100% സറ്ു്നേറുറു്റു്ടെമ റു്സ് എന്ന് ൻ
പറുയു�ന്നത് ?

20. ഡ�ബഞ്ച  നേഹ� നേഡഴ്സ�ന് ലഭാ�ക്ാകാ�ന്നത്ർ ൾ
21. ല�ക്ാവ�ഡ�റു്റു� നേറുഷ്യു =ല�ക്ാവ�ഡ് അസറു്റു്

?

22. സ�വ ണ്ണ കാമ്പന� ല�മ�റുറ്ുഡ ്ർ 10 ര�പയു�ടെട 20,000 ടെചയു്യു�ന്ന�. 

ആപ്ല�ക്ാനേകാഷ  മണ� ൻ Rs.2 വ�ത$ 24,000 ടെഷയു സ�ന് ലഭാ�ക്ാകാ�ന്ന� ർ .കാ�ട�തല�ളി്ളി 

ആപ്ല�ക്ാനേകാഷ  മണ� റു�ഫിണ്ട് ടെചയു്യു�ന്ന� നേ1ണ  എ ട്ര�കാ  തയു്യു�റു�ക്ാകാ�കാൻ ൽ ൻ ൾ
23. സ�നേറു� കാ�പപ്  നേബ�ണ്ട് എന്ന�  എന്ത് ൺ ൽ ?

24. ടെഷയുറു�കാളി�$ ഡ�ബഞ്ചറു�കാളി�$ തമ്മ�ല�ളിള്ി വ്യുത്യു�സങ്ങ  എന്ടെതല്ല�$ൾ ?

25. കാമ്പ�ര�റു്റു�വ് ബ�ല സ് ഷ�റു്റു�ടെല ടെഷയു  നേഹ� നേഡഴ്സ് ഫിണ്ട് എന്ന ൻ ർ ൾ
ശ� ഷകാത്ത�  വര�ന്ന ഇനങങ്  ഏവ ർ ൽ ൾ ?

26. മ�  ല�മ�റു്റുഡ ്എന്ന കാമ്പന� അര�  ലൈകാവശ$ ടെവച്ച�ര�ന്ന ൺ ൺ 10 ര�പയു�ടെട 500

ഫിസ്റുറ്ു് നേകാ�  ൾ Rs.2 ടെസക്ാകാ ഡ ്ആ ഡ ്ലൈഫിന  നേകാ�  ൻ ൻ ൽ ൾ Rs.3, അടക്ാകാ�ത്തത് 

ടെകാ�ണ്ട് നേഫി�  ഫി�റു്റു് ടെചയുയ്ു�ന്ന� ആവശ്യുമ�യു നേ1ണ  എ ട്ര�കാ  ർ ൽ ൻ ൾ
തയു്യു�റു�ക്ാകാ�കാ എഴ�ത�കാ

27.  വ�വ�ധതര$ ടെഷയു  ക്ായു�പ�റുറ്ുല�കാ  ഏടെതല്ല�മ�ടെണന്ന് വ�ശദി�കാര�ക്ാകാ�കാർ ൾ ?

28. ത�ടെഴ പറുയു�ന്ന XYZCo. കാമ്പന�യു�ടെട പ്നേര�ഫി�റുറ്ു് നേല�സ് അക്ാകാ�ണ്ട് 

സ്റുന്േറുറുറ്ു്ടെമന്റു�  ന�ന്ന�$ ൽ 31/12/ 2021-22   വ ഷങ്ങളി�ടെല കാ$പ�ര�റു്റു�വ് ർ
സ്റുന്േറുറുറ്ു്ടെമ റു് ഓഫ്ി പന്േര�ഫി�ആ ഡ് നേല�സ് തയു്യു�റു�ക്ാകാ�കാ ൻ ൻ

Particulars March 31,2021 March31, 2022

  പ്ര
വർത്തനത്തിൽ നിന്നുള്ള വരുമാനം 20,00,000 22,00,000



 അഡ്മിനിസ്ട്രേ്�പ്ര�ഷൻ ചെ�ലവുകൾ 10,00,000 11,00,000

 മറ്റു �ിലവുകൾ 1,00,000 2,00,000

  നികുതി നിരക്്ക 20%

Answer both 29 and 30- Each carries 5 score (2x5=10)

29. Match the following

A B

Debentures Existing shareholders

Shares Creditors of the Company

Sweat Equity Enjoys voting right

Bonus Shares Employees or directors

30. From the following,  Calculate Cash from Operations

Items 2020 2021

Balance of Profit and Loss Account 20,000 30,000

Bills Receivable 18,000 14,000

Provision for Depreciation 30,000 32,000

Outstanding Rent 4,000 1,600

Prepaid insurance 1,200 1,400

Goodwill 20,000 16,000

Sundry Debtors 18,000 14,000

Answer Any one  from 31 and 32- Each carries 8score (1x8=8)

31.Geo Ltd. Invite application for 10,000 equity shares of Rs. 10 each payable as follows,

Rs.2 on application

Rs. 2 on allotment

Rs. 3 on first call 

Rs.3 on second and final call

Application money were received for 12,000 shares and all the excess application money 

being refunded.

Sam, who hold 100 shares failed to pay the money on allotment and calls. His shares are 

forfeited and re issued at Rs. 6 per share. Give Journal Entries in the books of GeoLtd.



Answer both 29 and 30- Each carries 5 score (2x5=10)

29. ഇന�പ്പറുയു�ന്നവ ടെപ�ര�ത്തപട്െപട�ത്ത�കാ

A B

ഡ�ബഞ്നേചഴ്സ്   നിലവിലുള്ള ഓഹരി ഉ�മകൾ

ടെഷയു സ് ർ  കമ്പനിയുചെ� ക�ക്കാർ

 സ്ടെവറുറ്ു് ഇക്ാവ�റുറ്ു�  �വാട്ടവകാശം ആസ്ട്രേ്വദിക്കുന്നു

നേബ�ണസ് ടെഷയു സ് ർ   ജീവനക്കാർ അചെ/ങ്കിൽ ഡയറക്ടർമാർ

30. ഇന�പ്പറുയു�ന്നവയു�  ന�ന്ന്ൽ , പ്രവ ത്തനങ്ങളി�  ന�ന്ന�ളി്ളി പണ$ ർ ൽ
കാണക്ാകാ�ക്ാകാ�കാ

Items 2020 2021

  ലാഭനഷ്ട അക്കൗണ്ടിന്ചെറ ബാലൻസ്ട്രേ് 20,000 30,000

 ബിൽസ്ട്രേ് റിസ്ട്രേീവബിൾ 18,000 14,000

പട്െര�വ�ഷ  നേഫി�  ൻ ർ
ഡ�പ്ര�സ�നേയുഷൻ

30,000 32,000

ഔടട്് സറ്ു്റു� ഡ�ങ് ടെറുന്റു് ൻ 4,000 1,600

പ്ര�ടെപയു്ഡ ്ഇ ഷ�റു സ് ൻ ൻ 1,200 1,400

  ഗു�ഡവ്�ൽ 20,000 16,000

ടെഡ സ്ബ്റ്്റർ 18,000 14,000

Answer Any one  from 30 and 31- Each carries 8score (1x8=8)



31. 1�നേയു� ല�മ�റു്റുഡ ്കാമ്പന� ത�ടെഴപ്പറുയു�$ പ്രകാ�ര$ 10 ര�പ വ�ലയു�ളി്ളി 10,000 

ഈക്ാവ�റുറ്ു�ഷനേയുഴ്സ�ടെന ഇഷ്യു� ടെചയുയ്ു�ന�ളി്ളി അനേപക്ാഷ ക്ാഷണ�ച്ച�.

Rs.2  -ആപ്ല�ക്ാനേകാഷൻ
Rs. 2- അനേല�ട്ട്ടെമ റു് ൻ
Rs. 3 - നേകാ�ൾ
Rs.3- 2nd നേകാ�  ൾ
ആപ്ല�ക്ാനേകാഷ  മണ�യു�യു� ൻ 12,000 ടെഷയു  ആപ്ല�ക്ാനേകാഷ  മണ� ലഭാ�ച്ച�ർ ൻ . 

കാ�ട�തല�ളി്ളി ആപ്ല�ക്ാനേകാഷ  മണ� ത�ര�ടെകാ ന കാ� ൻ ൽ 100 ടെഷയു  ലൈകാവശ$ ർ
ടെവച്ച�ര�ന്ന സ�$ അനേല�ട്ട്ടെമ റു് മണ�യു�$ നേകാ�  മണ�യു�$ അടയു്ക്ാകാ�ന്നത�  ൻ ൾ ൽ
വ�ഴ്ചവര�ത്ത�. അദ്ിനേദിഹത്ത� ടെറു ടെഷയുറു�കാ  ൻ ൾ നേഫി�  ഫി�റുറ്ു് ർ  ടെചയു്യു�കായു�$ ഒര� 

ടെഷയുറു�ന് Rs.6 ന�രക്ാകാ�  ൽ റു� ഇഷ്യു� ടെചയു്യു�കായു�$ ടെചയു്ത�, 1�നേയു� ല�മ�റുറ്ുഡ ്

ല�മ�റുറ്ുഡ�ന്ടെറു ബ�ക്ാസ�  ആവശ്യുമ�യു ൽ നേ1ണ  എ ട്ര�കാ  ൽ ൻ ൾ  തയു്യു�റു�ക്ാകാ�കാ

32. Balance sheet of Agni Ltd is given below

Liabilities Amount Assets Amount

Equity share capital
6%PrefrenceShare Capitals
Reserves andSurplus
10% Debuntures
Sundry creditors
Bills Recievables
provision for Tax

3,00,000
1,00,000
80,000
3,00,000
60,000
40,000
20,000

Land and Buildings
Profit and Loss A/c
Stock
Sundry Debtors
Cash in hand
Prepaid Expenses

4,00,000
2,65,000
80,000
1,00,000
45,000
10,000

9,00,000 9,00,000.00

Calculate,

1.Debt Equity Ratio

2. Proprietary Ratio

3. Liquid Ratio

4. Current Ratio



32. അഗു്ന� ല�മ�റുറ്ുഡ�ന്ടെറു ബ�ല സ് ഷ�റുറ്ു് ച�വടെട ന കാ�യു�ര�ക്ാകാ�ന്ന�ൻ ൽ

Liabilities Amount Assets Amount

  ഇക്വിറ്റി ഓഹരി മൂലധനം

6%   മുൻഗണന 
ങ്കി�ൽ
മൂലധനങ്ങൾ

റു�നേസ നേവസ്   ആ ഡ് ർ ൻ
സ പ്ലസ് ർ
10% ഡ�ബഞ്നേചഴ്സ് 

ക്ാടെരഡ�റുന്േറുഴ്സ്

ബ� സ് റു�സ�വബ�ൽ ൾ
പ്ടെര�വ�ഷ  നേഫി�  ൻ ർ Tax

3,00,000

1,00,000

80,000
3,00,000

60,000
40,000
20,000

 ല� ഡ്  ആ ഡ്  ൻ ൻ
ബ�ല്ഡ�ങ്സ് 

പ്നേര�ഫി�റു്റു്  ആ ഡ്  ൻ
നേല�സ്  

സറ്ു്നേറു�ക്ാക്ാ 

ടെഡ സ്ബ്റ്റ്ർ
ക്ായു�ഷ്

 പ്ര�ടെപയു്ഡ് 

എക്ാസ്ടെപ സസ് ൻ

4,00,000
2,65,000
80,000
1,00,000

45,000
10,000

9,00,000 9,00,000.00

ത�ടെഴ പറുയു�ന്നവ കാണക്ാകാ�ക്ാകാ�കാ 

1.ഡബ്ബറു്റു് ഇക്ാവ�റു്റു� ടെറുഷ�നേയു� 

2. പ്ടെര�പ്ലൈരറു്റുറു� ടെറുഷ�നേയു�

3. ല�ക്ാവ�ഡ് ടെറുഷ�നേയു�

4. കാറുന്റു് ടെറുഷ�നേയു�


